2t sheet

otA XY O 24
S Z(Flow) C}7| =7 3]
(i) =(h) S(#8)
2 A (Component) As IS To Be
L Plan (AR Do (I ihedk (BB
S5W 3H
. _T'_jﬂH ...............................................
(OIZ, #x, ) 3¢
. H|g/0| (02, TAL Z-AD { 2
VLS 4p : :
R ESVESES (ME 7t4, 82, /8)
S 1 R SO SRR R O
- ?121/718l (People, Product, Process) - 3
., ............... R Ay Y Ty b LA WIS T
Value Chain




2t sheet

ki

=&/I|E o]
o 7= SW3H (57} 2, O{C|A, HOHLEAIZEHIE), OfE A, 2H)
AR A 3C (04, 22|2|AL ™A _
5 Forces (S5 &AL 14, MFEAX}, 7| ZZAA, OHS, A EA)
716egs Value Chain (7|2, Q1AL &, R&D, 4t OHAHE, Y 3)
oa 0AE [P (UE 7t RE BE)
- ngl. RO, Q02 or Xf M, O|SH A, HIj 0 5
MF/=2| Al H|-&/0| Y
T g4, B
X F A L&, 2% or 3, =2
7|Et EX|7}=(Controllable), EX|=7}= (Uncontrollable)
A a4 — Sixf - 0|2y
7|2t £, 7|, &7
AlZH F M35 2
Zh 4 As-Is, To-Be EE= As-Is, Should Be
AlGH Plan, Do, See




